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Instructions : (1) The figures on right side indicate the marks.
(2)  Use of calculato is allowed.

(3). Values of statistical tables é;e ]

7
T
I (3) Causal Research Design
(Bj Answer any tWo : .
i " Gtate any two characteristics of Res;grch. |
(ii) State the main difference between qualitative research and quantitative
11
research. . . h
(iii) Which points should be consider at the time of presentation of researc
1l _
rt 7
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|

(A) (1) Explain: 7
(1) Classification of data
(2)  Tabulation of data
(i) Explain the definitions and types of non-probability sampling. 7
OR
(1)  Explain the types of frequency distribution graph with illustration,

(11)  Explain the method of collection of primary data in detail.

(B) Answer any three : | 3
(1) For the class 90-129.95, the mid value is _ 4 'and'l'_the class lepgth is

(a) 109.975, 39.95 (b) 39.95, 109.97§ |

() 219.95,39.95 (d) None of these
(2) In histrogram, the frequency is represented on thed

(a) X-Axis (b)) Y-Axis _ o

(c) Both X-Axis and Y-AKig\(d). \ Nome of these
(3) “Sampling should not be free'from‘ bias.” Is it true or false ?
(4) Which metheds are useful to'test the reliability (authencity) of questionnaire ?

(5) State any one difference betwéen data and information.

3. (A) (i) From-the fO]II(.)Winﬂ tri-variate data obtain regression co-efficient equation
' ofX on X, and X, and estimate the value ofX when X, =18 and X, =20. 7

15]13 ol 7|6 4l

15|12 8 | 6 [ 43

(i) Calculate the following :
(a) The mean of two numbers is 20 and its Harmonic mean is also 20

then find that numbers and its Geometric mean.

(b) The first Quartile of the following frequency distribution is 185.92.
' Find the value of a and b, if the sum of frequencies 1s 50.

Class 101-150(151-200| 201-250 ”51 300
T R
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(i) From ‘the followi ' -
ollowing data obtained coefficient of skewness by using

Bowley’s and Kelly’s method. '-
30-39 | 40-49 | 50-59 | 60-69

_ |- 20-29
_
(ii) The regression equation of profit (x) on sale y) of a ce.a'm firm is
3y —5x+ 108 = O.hThe average sale of the firm was 22,000 and the varianee

of profit is 0/16"" of the variance of sale. Find the average _pmﬁt and

co-efficient of correlation between sales and profits.

(B) Answer any two :
(1) AB :"Ap =4 :1 and (0B) = (of3) then ﬁndﬁ Yule's coé_efﬁéient of
association. 4 '
(2)° State multiple regression model. _

(3) State any two properties of cotefficient of regression.

to a bird name cock and the increments in their

4. (A) (1) Vitamin A anddB is ‘given
ow. Do you think there is any significant effect

weight were recorded as bel
due 16 experiment of vifamin'A and B ? (tg o5 = 2.11) 7

@) ‘The result obtained by collecting the data 0

rding to the beverage with lunch inside a restaurant i given below : 7

acco

Prferred beverage

Coffee/tea | Soft drink | Milk & other
18

26 05
20

32

es of beverage ordered with lunch inside a restaurant independent

Is the typ
of the age of the customers ?

2 =13.28 |
(Xo.05 Lo

OR
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(1)  Perform one-way analysis of variance for the following data :

Use coding method, subtracting 100 from each data valu‘

[Foo1 d.f=(2, 12) =6.93) OR [F,,,, d.f = (12,2) =99 4 \
(ii) Explain: . | o\
(a) Type-I Error and Type-II Error.
(b) Testing of hypothesis and it’s typ (

(B) Answer any three :
(1) IfS;=2.45,S -192 the

(a) 1.28 .
(c) 0. 73 one of these
Powe . | '_
(b) 1-PB | |
(d) None of these '
error for difference between two proportions S.E. (P, ~P) =
1 1
P b — + —
\/ n, nl ) b B
(c) =~ /"l +1, (d) None of these

(4) State any one property of ‘t’ distribution.

(5) Degree of freedom is denoted by
(a) 1 (b V
c) A (d) None of these

ND-101 8
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Time : 2:30 Hours] | [Max Ma :0
Instructions: (1) The figures on right side indicate the marks.
(2) Useof calculator 1s allowed.
| (3) Values of statlstlcal tables are given in quc“
(A) (1) State the definition of researéh ‘ aluati of research
study in detail.
(1i)) Explain the impo gn. Explain the criteria of good
research desi g!ig 7

—
L ]

etween Basic Research and Applied Research.

Exploratofy Research Design
(2) Descriptive Research Design

(3) Causal Research Design

(B) Answer any two : 4
' (i) State the meaning of Managerial decision ‘makinél'and Business research.
(ii) State the main difference between Quaﬁtative Research and Quantitative
Research
(iii) Which points should be consider at the time of presentation of research
report ?
P.T.O.
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2. (A () Explain : - 1
(1) Classification of data
(2) Tabulation of data

(11)  Explain the definitions and types of non-probability sampling. 7
OR
(1)  Explain the types of frequency distribution graph with 1llustratmn _
(i1) Exphm the mcthod of collection of primary data in detﬂll ¥ A
3

(B) Answer any three : « | _
| (1) For the class 90-129.95, the mid value is _ and the class length is

(@ 109.975,3995 . (b) 39.95,109.975
(c) 219.95, 39.95 (d) None of these

(2) In histrogram the frequency is represented on the
(a) X-Axis (b) Y-Axis

(c) Both X-Axis and Y-Asis (d) None of these
(3) “Sampling should not/be free from bias”. Is it true or false ‘?
(4) Which methodsdre useful. to test the reliability (authencity) of questionnaire ?
(5) State the meaning of _data entry and data processing.

3. (A) Q) From the followmg tri-variate data obtain regression co-efficient equation
of X3 on X and X, and estimate the value of X; when X| = 18 and X, =20. 7

15 4|3
X, |30 | 24 | 20 | 14 10

(ii) Calculate the following : - vl

(@) The mean of two numbers is 20 and its Harmonic mean is also 20
then find that numbers and its Geometric mean.

(b) The first Quartile of the following frequency distribution is 185.92.
Find the va!ue of a and b, if the sum of frequenmes 1s 50.

Class 101-150 | 151-200| 201-250 | 251-300 1301-350
Frequencies 4 a 18 b 5

OR

(i) From the following data obtained coefficient of *skewness by using
Bowley’s and Kell ’q method

0-9 [ 10-19 40-49 | 50-59 | 60-69
AR MR RN N RN
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(ii) ' From the following frequency distribution find first four raw moments
about ‘8’ and from them -obtain first four central moments, it’s mean,

standard deviation, skewness (B,), Kurtosis (f3,), co-efficient of skewness

DI

(Y,) and co-efficient of Kurtosis (¥,).

K

(B) Answer any two:
(1) The multiple regression analysis of a family is obtained With the help-of .
computer software, obtained result is given in the following table, interpret
R-square and Adjusted R-square. _ -
| dependent variable : X independent variable.: X,, Xa,'X4. =
(2) State multiple regression model.
(3) State any tWO pr_opc_rties of co-efﬁcient“of regression.
4. (A) @) {’itamin A antl B is given fo abird name cock and the increments in their
~ weight we_re_recorded as below. Do you think there is any significant effect
¥ \due to expefiment of vitamin A and B ? (ty o5 = 2-11) T
[Vitamin-A | 14 [ 17 [13 |12 14] 13 -==-
_ VitaminB | 16 | 13| 16 [ 15 |12 | 14|20 16 19
| (i1) e result_obtaineci by collecting the data of random poll for 309 customers
7

e with lunch inside a restaurant is given below :

according to the beverag

Pret_'erreci beverage

Coffee/tea | Soft drink Milk & othe

21 - 34 26 95 18
| 40 20
13 .

age ordered with lunch inside restaurant independent

Is the tpes of bever
of the age of the customers 7

2 -13.28
[x0.0S 13.2 ] |
OR

15




(1)  Perform one-way analysis of variance for the following data :

USB cbdmg method, subtracting 100 from each data‘v
[Foor df=(2,12) =6.93] OR [F, ;, d.f = (12,
(11) Explain:

o\

(8)  Type-I Error and Type-II

R

(b)  Testing of hypothesi
(B) Answer any three :

) 1.63
(d) * None of these

( (b) 1-P

| e B (d)  None of these
- (3)  Standard error fo difference between two proportions S.E, )‘=
(!
‘ (8 4 [PQ 1,1 by 4 [+t o
- mi n _ (0) n, +l'l2

(d) None of these

(4)  State any one property of ‘' distribution. e -

" (5) Degree of freedom I demoted by __ - ~-
@ 1 ® V

€ A @ None of these
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